% 5-1

R B
:) I 5

= 4 op ¥

T
3 5

2%
.GE

-k

il
3

AP

% A

RN

g e

{ 9
17 R
& 9 i

=
G-

L.

FRESERELE b Ea
fEA R B RERE (e
%r\'7iiwlw?gﬂhr
FERE RTAAAD

-r‘%%‘ﬁ{@’%fi(g#

gﬁu 3 ﬁ_) s ¥ g H ’F‘ i
(e dal 28 1ms1 B F
FRITERE ) R AT
B )

CAF RS RN

RN RET S SEE T

W RARX

A ERITLAAR IR

ARIE P

ATHRTEIEBAAPN TR

= P

i

AFRTEASA

ﬁ.r'r'?fr?
12 AR 5E P

A AT A RRER R

A

B AR R X

HFZ %1 %

CE R AR/ RE LG

¥ (o3&~ Ap B 35 3R
AR M R A
PREAAMED TR LT
AP ERAEITE)

CHH AR L R A

NS
(=

L5 P AT A/ K& 3 %
ERNERTY

AFReEBE A RR

Y B

X
=
=

|+
w

=




i

s
3

LB

% 61
] i

a7 5
& pE

TR

& e e

EX W f‘ﬂ

Fe W

st
Y

5T AT K LD 2 H PR
B B S R B R
8 T R ALA 2
_ig

(%)

R

—_—

AFRTESTIARD AR
hEAR

2. F AithB AN 2 R EE L
RN R
MR

S¥pitaizit* L |2
PREEH LT TR

Hr BIEYH
X

#*
=
=
&
¥
e
"
&
(415
Bt
=

3D S PRI LT T
3

LSRR A LT R

%58
in

N

N

—_—

REPFERLE T

2. FEPME S RE T

3.ET FAEPB L% | 2
W A

AE ozl 20

L HTLCEALA R A

>
™




Hr
- AFARARALI004 0 LEAF A 2 REL 1004 P FERT S RE/ZEY
2% 8o (48T 21 PR BT A 7)o
Pl REFPEY TERLABLARTE RNFFEELS 100/4=25- 27 Tpak
E%“Ji%ﬁﬁﬁ’ﬁfﬂfﬂ"é(z:ﬁi?r%%ﬁ ?B%Eft,a25/3833
P2 RSEFAY TR EERIBTE  MEREELE S 100/9=11.11> A T= 2 %
fmﬂ’—_,«fm~%§msp u% azi?ré%ﬁi PHEE 5 11.11/2=5.56 -
S22 AP TRALE | 22543 N e
(DT=x228 004
(2) T2 P& RkE B ABPEE X1/
(3) T2 BH&EM, IZFETP L x2/3
(T ezd 1% a0 EE X33
ZRBESIT A VAT AR S F 09 4 pF 0 69 43+ 5 K 69 A K > R
LA

kS
w
=)

-
w
=)



